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As an emergency rescue team leader of a city, you are given a special map of
your country. The map shows several scattered cities connected by some roads.
Amount of rescue teams in each city and the length of each road between any
pair of cities are marked on the map. When there is an emergency call to you
from some other city, your job is to lead your men to the place as quickly as
possible, and at the mean time, call up as many hands on the way as possible.
Input

Each input file contains one test case. For each test case, the first line contains 4
positive integers: N (<= 500) - the number of cities (and the cities are numbered
from 0 to N-1), M - the number of roads, C1 and C2 - the cities that you are
currently in and that you must save, respectively. The next line contains N
integers, where the i-th integer is the number of rescue teams in the i-th city.


https://github.com/EventideX/PAT/tree/master/PAT Advanced Level Practise/1003

Then M lines follow, each describes a road with three integers c1, c2 and L,
which are the pair of cities connected by a road and the length of that road,
respectively. It is guaranteed that there exists at least one path from C1 to C2.
Output

For each test case, print in one line two numbers: the number of different
shortest paths between C1 and C2, and the maximum amount of rescue teams
you can possibly gather.

All the numbers in a line must be separated by exactly one space, and there is
no extra space allowed at the end of a line.

Sample Input

5602

12153

011

022

031

121

241

341

Sample Output

24

KER:

N MEHMERE |, SMEHEERIE/NE. ENSONE  SERRTER , KNERZEIER
IR F AN R CRIRIR/NEEB 2.

n<=500.

=

2 B

ERAEESE . AILARdijsktragRiE ( EHEAK ) o dijsktraZicR— TR EEFIINARDEL.



(€L
dijsktra

#include<iostream>
#include<cstdio>
#include<cstring>
using namespace std;
int main ()
{
//freopen ("in.txt","r",stdin) ;
int i,j,k,n,m,s,t,cl,c2,a[501][501],b[501],c[501],d[501],e[501],£f[50
11={0};
memset (a,0x3f,sizeof (a));
memset (d, 0x3f,sizeof (d)) ;
cin>>n>>m>>cl>>c2;
for (i=0;i<n;i++) cin>>b[i];
for (i=0;i<m;i++)
{
cin>>>>k>>t;
aljllkl=alk] [Jl=t;
}
clcl]=blcl];
d[cl]=0;
e[cl]=1;
for (i=0;i<n;i++)
{
s=0x3f3f3£f3f;
t=-1;
for (3=0;j<n;j++)
if ((£[J]1==0)&&(d[]]1<s))

if (t==-1) break;
flt]l=1;

for (3=0;j<n;j++)

if (£[3]1==0)

if (d[jl>dlt]l+alt]l[]])



cout<<e[c2]<<' 'w<c[c2];

return O;

DFS

#include<iostream>
#include<cstdio>
#include<cstring>
using namespace std;
int n,m,s,t,maxt,mind,cl,c2,d,a[501][501],b[5011={0},c[501]1={0};
void dfs (int k)
{
int 1,73;
if (k==c2)
{
if (d<mind)
{

mind=d;
maxt=t;
s=1;
}
else 1f (d==mind)
{
s++;

if (t>maxt) maxt=t;

}

clk]l=1;
for (i=0;i<n;i++)
if ((c[i]==0)&&(al[k] [1]1>0))

{
d+=alk] [1];
t+=b[i];
dfs (1) ;



int

main ()

//freopen ("in.txt","r",stdin) ;
int 1,73, k;
memset (a,-1,sizeof (a)) ;
cin>>n>>m>>cl>>c2;
for (i=0;i<n;i++) cin>>b[i];
for (i=0;i<m;i++)
{
cin>>3>>k>>t;
aljllkl=alk] [j]1=t;
t
maxt=0;
mind=0x7FFFFE;
t=blcl];
d=0;
dfs (cl);
cout<<s<<' '<<maxt;

return O;
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aR FREd(ms) MF(kB)
BT 2 1408
E L - 1408
E =T 6 1408
B 6 1408
B 5 1388
BT 8 1408
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i =R FARg(ms) HF(kB) 89/ #%H5%

0 o= 3 1280 10/10
1 E=1THE 5 1408 3/3
2 ‘E=EIFR 5 1404 3/3
3 E==IFR 7 1408 3/3
4 E=IFT 8 1396 3/3

5 EE=ICHA 140 1408 3/3
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